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Teacher Guide

Choose Which Way (TG pp. 1–2) 
Homework
Questions A–F
Methods will vary. Possible responses:

A.

B.

C.

D.

E.

F. Problems chosen will vary. Possible response: 
I used friendly numbers to estimate 47 + 38. 
50 + 40 = 90.

74 = 70 +  4
+ 19 = 10 +  9

80 + 13 = 93

66
+ 27

93

1

59
+ 25

70
+ 14

84

26 = 20 +  6
+ 39 = 30 +  9

50 + 15 = 65

47
+ 38

85

1

Answer Key • Lesson 6: Making Connections
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Choose Which Way

Solve each problem using a paper-and-pencil method. Choose
each way at least once. Estimate first to make sure your
answer is reasonable.

A. 74 � 19

B.

Dear Family Member:
After your child has completed these problems, ask him or her to choose 
one problem and explain the steps taken to solve it. 
Thank you.

Expanded Form All-Partials Compact

57 = 50 +  7  
+ 36 = 30 +  6  

80 + 13 = 93 

57 
+ 36 

80 
+ 13 

93 

57 
+ 36 

93 

1 

Paper-and-Pencil Methods

66
� 27

Name Date
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C. 59 � 25

D.

E. 47 � 38

F. Choose one problem. Show how you estimated to check the
reasonableness of your answer.

26
� 39

Name Date
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